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OMHE s 24 AIY
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OosEsHANA(AMNSUHE)
1,400,000 * 33| 4,200
401 AlEHIZL 2 0HY| 30,000 45,000 A 15,000
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OFREERAERNSS X ALY
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OHEAE X3 AH
60,000,000& = 1CH = 0.5 30,000
OR0I3t0HI Al E R 3 AL
5,000,000& * 2CH *~ 0.5 5,000
OXEAHAAEL HE2U XA
40,000 « 200€ * 0.5 4,000
OR4A YU XY
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stnNeaal 75,250 75,250 0
J| 45,150
&< 9,030
= 21,070
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190,0008 = 4% = 10€& 7,600
04 =Ml st dl 4,000 4,000 0
OANERN MSAHHEEHE o2 X0
4,000,000 = 1JH A 4,000
& 1,500
= 2,500
203 R F & 2,000 2,000 0
03 AIZH =X 2= X H| 2,000 2,000 0
OLXMA BHSA L FIHYHYRET
100,000 = 103l 1,000
OANMENA MAD |22 H2=4&
100,000 * 103l 1,000
301 LBt A= 4,800 7,500 A2,700
09 HAIAHI EAZ 4,800 4,800 0
O0tsd P3| s &4 8B4
6,0008 * 200 13| 1,200
O3 DY HA LA
6,0008 » 200 13| 1,200
OANMEMATHE =IO A &KX AS
30,000 * 40 13| 1,200
O)U&S Ml = A& X AS
30,000 * 40 13| 1,200
308 XAHXIEHSOIA 2,000 2,000 0
07 NSRS 2 2,000 2,000 0
OFIDISEMEA BoFs 22
2,000,000& 13l 2,000
AE20 HUXOS SESStHALE 137,880 1,108,000 A 970,120
= 56,700
o= 24,354
= 56,826
402 SI2FXHE0| ™ 137,880 1,108,000 A 970,120
= 56,700
o= 24,354
= 56,826
01 QIZEXIE2AIE 2 X 137,880 1,108,000 A 970,120
OtUEE2HE NI AIE  234,600,000& * 0.5 117,300
= 46,920
= 21,114
= 49,266
OXNsE2EM XA 10,200,000& = 0.5 5,100
= 2,040
== 918
= 2,142
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AN seIIsHE
g sEXNTAEY

SRl R0l - ST DEE M (ol &9)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

OSBRI XA

25,800,000& = 0.6 15,480
7,740
2,322
5,418

MR

ANEZ2HSENEAMS (RUEE) 1,434,225 2,455,000 A1,020,775
573,690
258,161
602,374

Mo A

402 2I2tXt=01 & 1,434,225 2,455,000 A 1,020,775
573,690
258,161
602,374

MR

01 AT AIEEX 1,434,225 2,455,000 A 1,020,775
N

2,868,450,000& = 0.5 1,434,225

573,690

258,161

602,374

M H

ANER0 JlsE3 394,100 946,053 A 551,953

106,350
287,750

EUNL

402 RI2FX=01 M 394,100 906,053 A511,953

106,350
287,750

EUNE

01 AT AIEEX 394,100 906,053 Ab511,953
JI23 K& 264,000,000& = 0.4 105,600

39,600
66,000
0.5 18,000

9,000
9,000

*

Mo

OL=otRAMLEIXIEA 36,000,000

*

EUNLY

OMAMAANLSEUHIXRE(7TE)
112,000,000&

*

0.5 56,000
28,000
28,000
OMEMHA=ZHIA 7,000,000& = 0.5 3,500
1,750
1,750

EUNLY

M

O =S PN M5 AIHA (AER0

) 50,000,000 = 0.8 40,000
15,000
25,000

M

OANEZJ0 NSHH H=H3t AISBA

10,000,000& * 0.8 8,000
3,000
5,000

M

OANEZNES S AEAY

25,000,000& = 0.8 20,000
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EM: sg€IlasdH

MM SEXC A
el ROl SE BT M (el:de)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
== 10,000
= 10,000
OdNdsAME MAST EXESHINM
300,0002 » 30X /10KG * 240ha * 0.5 108,000
OANMEMA HAXX EALMEH X
30,000& * 55.555ha » 30X % 0.5 25,000
ON&%8 35 MATT S8 Al
10,000 = 300 =* 6.6666ha * 0.5 10,000
CAMA D22 989,350 1,132,900 A 143,550
= 160,000
= 829,350
206 M = dl 50,000 50,000 0
01 XHZ H| 50,000 50,000 0
Olts SMMsS R YH
20,000& = 250ha * 10= 50,000
402 BI2H X 20| M 939,350 1,082,900 A 143,550
& 160,000
= 779,350
01 A2 AIEE =X 939,350 1,082,900 A 143,550
ODNEZE AN SN2 MADI=AE
40,000, 000& 40,000
= 20,000
= 20,000
OO0lsMAME sIJIAH XS
224.,000,000& = 0.5 112,000
= 56,000
= 56,000
ONSEAUWMEAIIAGT X
336,000,000& = 0.5 168,000
= 84,000
= 84,000
O0lsHXZAAE XX
4,000,000& = 38 A * 0.5 76,000
Ozd0ts sSPFHAXNA
10,000,000& * 10ha * 0.5 50,000
O =2 GAPXHBH = JHXI & (66ha)
100,000, 000& 100,000
O HANMYMAILY
45,000& * 52ha * 30% * 0.5 35,100
OSIAIBHA RE2SFYH HSUTBHSHX =4
8,000,000& * 12ha * 0.5 48,000
O 2UH=Esd MSs B2
2,500,000& * 32.4ha * 0.5 40,500
OOl0ls, &It =22y HEAIEY
25,000& *1500H = 20004 = 0.5 37,500
OXNZEESEX ZTHM X 20,000
— HIY ZZTH(1kg) 300& * 90,0000 * 0.5 13,500
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AN seIIsHE
g sEXNTAEY

Celt R0l SR DED M CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

1,30020 * 10,0000 * 0.5 6,500
OObs - 2T M4H B2 501X &AL 212,250
—Obs%220l  2,800,0008 * 15CH * 0.5 21,000
— S0tsdEIl 8,500,0002 * 15CH * 0.5 63,750
—+20|(32018)
2,000,0008 * 1504 * 0.5 15,000
— £=)|(EHES) 4,300,000 « 200 * 0.5 43,000
- sE=g)) 6,200,0008 * 15 * 0.5 46,500
— QM XTSIl 4,600,0008 + 10CH * 0.5 23,000
DEHIOHE THHH Al & 50,360 185,000 A 134,640
= 20,144
< 9,065
= 21,151
402 QI2tRHZ 01 F 50,360 185,000 A 134,640
= 20,144
< 9,065
= 21,151
01 BIZFRHE A B & 50,360 185,000 134,640
O DI JH2 TH b Al &
20,0008 * 5,036m * 0.5 50,360
= 20, 144
< 9,065
= 21,151
Y Ots, U0 MASPAY 70,000 0 70,000
207 742l 70,000 0 70,000
01 1R gyl 70,000 0 70,000
ORYE Ots, L0 AAST U AE 8
70,000,000} 70,000
Dts, 2T X2l = EARA 59,000 0 59,000
206 2 I 2,000 0 2,000
01 W2l 2,000 0 2,000
OLMAXEAR ELHE 1,000,000 1,000
ODISXIEEAR 222 1,000,000 1,000
301 AP R A2 2,000 0 2,000
09 S AHAIHI 2 A2 2,000 0 2,000
OFQMAAXEARN B L 3
500,0002 * 23 1,000
ODFSN2XEAR B ¥ 23
500,0002 * 23 1,000
402 QIERHZ 01 H 55,000 0 55,000
01 BIZFRH2 AL B X 55,000 0 55,000
OYMALEBAR E28 ZXH MK 30,000




AN seIIsHE

g sEXNTAEY

Sl ROl SH DEI M CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 2mY MAXA  200& * 200,00004 = 0.5 20,000
— 2o HAMEXH
2,000& = 10,0000 = 0.5 10,000
OltsXelZBEAMN E28 ZEMH MEXH 25,000
—0ts & MEXH
2003 * 250,0000# = 0.5 25,000
bbb FWHE grat 2,045,811 1,989, 150 56,661
= 275,630
Xl 140,000
J| 100,000
< 281,032
[ia 1,249,149
ot M A Bt RS 244,987 223,390 21,597
101 @124l 483 0 483
04 JIZHHZ2Z2XNSE S+ 483 0 483
OOtEZ = ASANEE 29
48,2403 « 10¥ 483
201 et 3,100 3,100 0
01 At 2teltl 3,100 3,100 0
Oger==EH| 1,500
—D2SHMYE LS 2B 7Y L R
3,000& = 1008 = 5& 1,500
ogdxz 1,600
—~FYUSAATE LAWK A YR
800,000& * 1CH 800
~ Y 9% gZ2eny A A%
00,000& * 1CH 800
202 (44l 2,200 2,640 A 440
01 = LH &4 1l 2,200 2,640 A 440
Ont=3at3l Jl&=2= 100,000& * 2% * 11& 2,200
206 M= Hl 1,554 0 1,554
01 M= 4l 1,554 0 1,554
OOtEZ Hut== ASAIEE HE
1,554,000& * 1004 1,554
301 LB A F 5,150 5,150 0
09 EALAHIE &S 4,350 4,350 0
OFEHZAHIS wFAI B4
7,000 * 90 « 53l 3,150
OXY 9E gZ2e0] HIX Ast L
30,000& = 409H 1,200
1MIIEEES 800 800 0
OFIHZATRS W LAY
200,000&  49H 800
402 RI2HXt20l ™ 232,500 212,500 20,000
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AN seIIsHE

g sEXNTAEY

SOl DAY BM CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 BIZtt2 AL E X 232,500 212,500 20,000
ozgHzAIs w4 85,000,000& * 0.6 51,000
O&FECZ BS3HALY 142,000,000& * 0.6 85,200
Ol HEE dSIH% X&E
3,000,000& * 13MIE = 0.5 19,500
OtASR=ZEY 12,000,000 * 101 2 +0.8 9,600
o+ 24
60,000,000& * 1J0HA = 0.6 36,000
OMMTBZE ALRSE |4
18,000,000& * 0.6 10,800
OFYUYECL A T4
34,000,000 * 0.6 20,400
sHAESMHAHESH K 500,000 405,000 95,000
< 90,000
i 410,000
307 glz2+ol & 500,000 405,000 95,000
< 90,000
i 410,000
06 283 500,000 405,000 95,000
OsH=Mal 28=XE A& 500,000,000 500,000
< 90,000
s 410,000
DEZMAMAILSUHSAS 250,000 250,000 0
J| 100,000
= 45,000
s 105,000
402 RI2HXt20l M 250,000 250,000 0
J| 100,000
< 45,000
[ia 105,000
01 22t t= AP E X 250,000 250,000 0
OFTA |2 NSEYUMALEUALY
250,000,000 250,000
J| 100,000
< 45,000
[ia 105,000
sMEEFE D=8 170,824 108,260 62,564
= 35,630
< 38,032
[ia 97,162
206 = Hl 1,260 0 1,260
= 630
[ia 630
01 MHZ 4l 1,260 0 1,260
sSASHWMNS YHMHI(ALD, i, StAY)
63,000& * 20ha 1,260
=2 630
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SIS HE
SEXNEAY

o DpAAQ AMB A

Te s (=] S o

SA-Z3H-SH2A(3AH) - A

01
o

Off &t 24

=
i

2

HJ

630

402 212t Xt=01&

MR

169,564
35,000
38,032
96,532

105,260

64,304

X
O =S P HAZ (=)
50,000,000& * 204 = 0.8

4,128,000& = 0.5
35,000,000& = 0.5

Ol NES Mol U= MUA2E 23
A 40,000,000& * 1JHA

O4dHE2 018 s HIILH AlY

30,000,000 = 10024

EUNE UL

HH M

HH

169,564

80,000

30,000
50,000

2,064

1,032
1,032

17,500

7,000
10,500

40,000

20,000
20,000

30,000

15,000
15,000

105,260

64,304

HAAES U X R A

HH A

600,000
240,000
108,000
252,000

42,500

557,500

402 212t Xt= 01 &

HH A

600,000
240,000
108,000
252,000

42,500

557,500

01 QI2tXrE ALY
OHAAZESEHSAXN MG (HASIHHAAIE)
1,200,000,000& = 1JH2 = 0.5

Mo A

600,000

600,000
240,000
108,000
252,000

42,500

557,500

pal
1
oK
11
JIm
0x
ol
=
11

M=

280,000

140,000
140,000

360,000

280,000

wW
2
e
x
HL
0z
oy

Xl

M

4,000

2,000
2,000

2,000

2,000

09

=
[l
=

0z
oy

O oz
02
02
1n
0 H
S
Y
nx
om
i
x

X 24
4

,000,000& * 13

X

4,000

4,000
2,000

2,000

2,000
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AN seIIsHE

g sEXNTAEY

ol DALY FWA (el @2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
o 2,000
402 SI2FXHE0| M 276,000 358,000 A 82,000
Xl 138,000
= 138,000
01 QIZEXIEAIE 2 X 276,000 358,000 A 82,000
OXE=sgdEHds AFY 276,000,000 = 100 A 276,000
N 138,000
= 138,000
S| H st ALY 2,558,377 1,756, 158 802,219
= 183,000
= 93,080
- 2,282,297
SO HAAIS 1,394,980 1,403,881 A 8,901
201 ety 266,980 224,881 42,099
01 AP 22| 139,510 116,940 22,570
Ogbt=2H| 36,850
— = AHAE EE2= M 2,000
— = QALY & Botdy|
132,5008 = 7= ~ 12€ 11,130
—sJ|H LUHAE EHOIX AMBEHOIS2
4,320,000& 4,320
— Y23 SIAHULUANYE 2= 2
5,000,000& 5,000
— Y23 SIAHUUAY 52 T2
T 2,200,000& 2,200
—SIAHALYUHAY L SIHHXNIAIY HAZ
20 FAE %L 2,200,000& 2,200
—sHEgAEEFZTZ ] HEH|
10,000,000 = 13| 10,000
Oo29s¢ 1,400
—=SJHUUAIYE 2EAK 3
70,000 = 10¥ = 23| 1,400
Ol 1,260
—SIH YdUHAMEE SL22X E20HAMH|
6,000 ~ 3% * 70Y 1,260
Oexz 100,000
- = ALY 28X 2 Xt
100,000 = 1,0003] 100,000
012 B232Y 127,470 107,941 19,529
O2Z2R 2 XAl 70,470
— &I Ra 13,270
SIHHLHAIE A &0 J22
6,166% = 40kw * 2IH A ~ 12€ 5,920
SO HLHAIE A 20 AE2s
87.5€ * 1,000kw » 7= * 12& 7,350

_75_




- =
- S

2= e

P SENEZAY

=]

DSOS ALY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
—2UAME XA BER
1,800,000& * 4CH * 14 7,200
— 2 At ZH B2 50,000,000& 50,000
oozl 7,000
—sJIA BHAY HERIH
2,000,000& * 200 £ 4,000
—2U=sJIAH ¥ XA 28 |FF
1,500,000& * 2JH & 3,000
OA&EHl Xl 50,000
—QUHsIIAH, SUHAHE KX 2cldl
50,000,000& 50,000
206 M= Hl 4,000 4,000 0
01 =8l 4,000 4,000 0
OsIJIHSUHAY 22 & M=
10,0002 * 4003 4,000
401 Al B2 28I 700,000 525,000 175,000
01 A& Bl 685,270 513,100 172,170
Ogsd sIASUAY AFd JHld JI8Al
a8t RUAE 685,270,000 685,270
02 Zeltl 11,130 8,300 2,830
OLRA sIHYUHAY Zeldl 11,130,000 11,130
03 Al 20 HI 3,600 3,600 0
OLEd SIHLUAY EXSA 3,600
405 RHoHF S HI 424,000 650,000 A 226,000
01 XL 2 ZF S| 424,000 650,000 A 226,000
Od=2d sSIAHLUAY sIAHTY
200,000, 000& 200,000
OLSSIIAHLUINIA RDAAL(105)
150,000, 000& 150,000
OgFBE FH L BRIY(105)
ZetXOHE SIS 3,700,000& 20CH 74,000
SIAH =3 W= 196,292 83,542 112,750
101 14 Hl 140,212 27,382 112,830
04 JIZHHZ22XNHEE S 140,212 27,382 112,830
OsJli&slunsg 29 140,212
—JlEs 75,0003 * 48 » 245¢ 73,500
—SS522f+Y 75,0008  4H » 86 25,800
—4AHEE = 99,300,000& = 4% = 0.108 40,912
201 Let24dH] 4,380 4,380 0
01 At 22/l 4,380 4,380 0
O+t 1,380
—SEHQI(AUHE A2 XA
360& » 3,000 1,080
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AN seIIsHE

g sEXNTAEY

ol sIIAHS ALY (=& J)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
—solusad 859 AN
50,0002 * 60K 300
o=l 3,000
—sJAH=0s 150,000& * 4H =« 43| 2,400
— O FBH(ED S) T
150,000& * 4H « 13| 600
202 OHl 5,200 5,280 A 80
01 = LH YI 5,200 5,280 A 80
OsJIH N& gR=2
130,000& * 4H = 103 5,200
203 YR =] 500 500 0
03 Al =X A2 =XH| 500 500 0
OsJlH&zsns 8% =& 50,0008 * 103 500
206 M= Hl 44,000 44,000 0
01 =8l 44,000 44,000 0
Oslld&sluns 257 10,0008 *4,200& 42,000
OsJldl&eans M+ 20,0008 » 1008 2,000
301 gt 4= 2,000 2,000 0
09 HALAHIEA S 2,000 2,000 0
OsJlHnsas 24 5,000&  4009H 2,000
SIHAHARSSHAALZ 172,105 55,735 116,370
= 48,400
< 20,200
e 103,505
201 L2l 10,045 4,685 5,360
= 1,400
= 770
= 7,875
01 At 22l 5,360 0 5,360
Oget=&H| 5,360
—SJIA otd = WM E 2,800,000& 2,800
= 1,400
s 1,400
—sJH 8&JIzns UMAE
2,560,000& 2,560
= 770
[ia 1,790
02 =224l 4,685 4,685 0
Ozl 1,685
—sJIANE =¢34 S7U
1,685& = 50CH » 20 1,685
OA& EHI R Xdl 3,000
—WEREHEH X 22l
60,0002 = 50CH 3,000
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AN seIIsHE

g sEXNTAEY

Rl s H S AFY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
202 o4 | 8,660 0 8,660
== 2,600
= 6,060
01 2L I 3,000 0 3,000
OsJIH 8d)lsns 45 3,000,000& 3,000
= 900
= 2,100
04 =Ml 3t dl 5,660 0 5,660
Osdtg JIHNE S35 5,660
o=t 1,700
= 3,960
206 M = Hl 18,000 10,400 7,600
= 7,000
== 1,200
= 9,800
01 X2 H| 18,000 10,400 7,600
OsJIH t8Ns Mg 14,000,000 14,000
= 7,000
= 7,000
OsgJIH 8&)ls U 4,000
& 1,200
= 2,800
207 SO0 £ 10,000 10,000 0
03 A& 3 H| 10,000 0 10,000
OXNAYLSH=sI|HM 10,000,000 « 1Al 10,000
301 et A= 2,100 1,650 450
& 630
= 1,470
09 HAIAHIBEAZ 2,100 1,050 1,050
OsJIHEHEEI)zWE Ba3
7,000 * 300 2,100
& 630
o 1,470
405 XHAHFEI EHI 123,300 20,000 103,300
= 40,000
& 15,000
= 68,300
01 XA 2B F S| 123,300 20,000 103,300
Oun=ssd &y ¢ 33,300
= 10,000
= 23,300
Oonssd ZFXN(sSSH=DI) 60,000,000 60,000
= 30,000
= 30,000
OJIAHE sg=s4du1s =23 &H| 30,000
= 15,000
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AN seIIsHE
g sEXNTAEY

CHel: S HIIAHG ALY CEE-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

HJ

15,000

|

SIH SR 2RI 24,000 0 24,000
9,600
2,880
11,520

MR

206 M= Hl 24,000 0 24,000
9,600
2,880
11,520

Mo A

01 M= dl 24,000 0 24,000
sZIIASSHEA 24,000
9,600

2,880
11,520

U RN

A9

SSIAHSSAE 511,000 0 511,000

65,000
,000

]
0
OfH

EUNY
~
&

402 212t Xt=01 & 511,000 0 511,000

65,000
,000

Mo
~
&

<
o
rJ
>
r

AMNSEXE 511,000 0 511,000

L2ESIAXNE M

O
A2
o
og
OH

217,000,000& 217,000

65,000
152,000

Mo

OsJANEMNG (SHB2IS
4,200,000& * 140CH = 0.5 294,000

=

dsIIAsE AdsIot MH SIIAHXZ 10,000 0 10,000
5,000
5,000

EURLY

402 212t A= 01 & 10,000 0 10,000

5,000
5,000

M

01 At TtEANEEX 10,000 0 10,000
Aot 8ot 455 sIOH K&

12,500,000& = 0.8 10,000
5,000

5,000

(&)

M H

F AR 20D H 3 K& A 200,000 0 200,000

100,000
100,000

M H

405 TtobFH SH| 200,000 0 200,000

100,000
100,000

M H

01 AL ESFH SH 200,000 0 200,000
OF&X LI HE X2 A 200,000,000& 200,000
100,000

W
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AN seIIsHE

g sEXNTAEY

S SLIIAHE ALY (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| o 100,000
HezstasIIHP2L XA 50,000 0 50,000
= 25,000
s 25,000
405 XHobF S HI 50,000 0 50,000
=2 25,000
s 25,000
01 HatL EZSFH S 50,000 0 50,000
O04zste sII1H XA 50,000,000& 50,000
= 25,000
[ia 25,000
HHR2HZH (s II=dH) 477,320 341,546 135,774
AT (sEII=dH) 288,586 163,312 135,274
EA2e| el Y 288,586 163,312 135,274
101 @14 Hl 288,586 163,312 135,274
03 RIHAZ 2T+ 288,586 163,312 135,274
O g¢&==28(0t2) 29,438
—Jl=s 1,357,950& » 1H » 128 16,296
—JlZ=g 1,357,950& » 1H * 400% 5,432
— M Z A 120,000& = 1H = 123 1,440
—WEs2xdl 70,0003 = 1¥ » 128 840
— 32 S0yl 500,000& = 1H =« 23| 1,000
—N2eRRAY
1,547,970 /243 1.5 » 20AI2F 1 * 1 2,294
23
— AR EI Y
1,547,970 /2432 81«22 1,122
- s 20,000& » 12JH& 240
—dTHEE S 28,664,000& * 0.027 774
O =d3AE(L2) 259,148
—Jl=s 1,665,150& » 6% 128 119,891
—Jlz=g 1,665, 150& » 6% * 400% 39,964
— M Z A 120,000& * 6H = 123 8,640
—WE2xdl 50,000& = 6 = 12& 3,600
— YEEOH) 600,008 * 62 * 23] 7,200
—N2eRRAY
1,835,150% /243 » 1.5 » 20AI2t » 6% = 1 16,313
23
—JE=E 80,000 » 6% =12& 5,760
— 2R (SIALUAILA)
87,3008 * 6% * 502 26,190
— AR EINEY
1,835,150% /243 » 8 » 6% * 202 7,250
—dTHEE S 234,806,000& * 0.027 6,340
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2N
X ZH -
L= B

el

ZH (s sHH)
Hl(sel=HE)

B O (S0) - NRAY - HES il
— IS (2gs) 150,000& * 6% * 43| 3,600
— &0l 200,000& = 6H » 123 14,400
dil(sgJl=4dH) 188,734 188,234 500
22t (sllsdH) 188,734 188,234 500
201 L2l 127,314 126,814 500
01 At 2t 2|l 100,416 99,916 500
O+t 23,200,000& 23,200
ozg=¢ 31,280
— A 50,000& * 2% = 118 11,800
— =3y 50,0008 * 128 » 2482 12,400
— g2y ®u =xy)
60,000& = 198 = 118 7,080
O= &l 45,936
— =MD 6,000 * 21 « 11 « 128 16,632
~SEURSD
6,000& = 17 = 11 » 12& 13,464
—Jl=Xa3 6,000& = 20Y + 11 » 12& 15,840
02 3323l 26,898 26,898 0
O2323 % HMA 26,898,000 26,898
202 O4HI 34,800 34,800 0
01 = LH o4 1l 34,800 34,800 0
OJ|l2ge-3 34,800
— =g MY 50,000& = 21H » 123 12,600
—s=NMRSH 50,000& = 179 = 12& 10,200
—Jl=X& 50,000& * 20 = 12& 12,000
203 R = Y| 18,220 18,220 0
NBEEEEES T 3,300 3,300 0
OJI22g g2l 275,000& = 12& 3,300
02 et =& 2,320 2,320 0
OIS R F= &Y 40,0003 = 58%Y 2,320
04 EAN2I LRI 12,600 12,600 0
ORN2IYS =2 12,600
— s MY 350,000& = 12& 4,200
—sFHRSH 350,000& = 12& 4,200
—Jl=X& 350,000& = 12& 4,200
204 D482 H| 8,400 8,400 0
01 Mg 8,400 8,400 0
OGRS AH| 8,400
-4 400,000 = 1% = 12& 4,800
— & 100,000& = 3H = 12& 3,600
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